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QUESTION 1

What is the primary purpose of Connection Forwarding in WCCP deployments with multiple Steelhead appliances in a

single cluster? (Select 2)

A. For handling Removal Query process

B. For handling Redirect Assignment process

C. For handling Here-I-Am packets process

D. For handling the I-See-U packets process

E. Connection Forwarding is not recommend in WCCP deployments

Correct Answer: AB

QUESTION 2

What type of problem does the error message below indicate:

Aug 30 18:19:27 SH pm[18716]: [pm.ERR]: Output from sport:

/opt/rbt/bin/sport (pid 11304) received signal 6 (SIGABRT) dumping core

A. It is not a problem, but part of the regular operation

B. The management process crashed

C. The optimization process crashed

D. The management process received permission to connect to a Granite Core device
E. The sport process received permission to connect to a Granite Core device

Correct Answer: C

QUESTION 3

In a recent in-path deployment, users are complaining that some of their CIFS drive-mapping connections do not appear
to be optimized. Upon further analysis, you discover the file shares reside on a domain controller. The Steelhead
appliances are deployed in a default configuration. Which of the following is the most likely cause of the problem?

A. The Steelhead appliance lost an Opportunistic Lock on the file
B. SMB Signing is set to required
C. No fixed-target rules installed

D. Misconfigured Steelhead appliance
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E. Packet ricochet

Correct Answer: B

QUESTION 4

Refer to the exhibit.
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What does the term resyncing mean?

A. All Interceptor appliances have been connected and the appliances are transferring connection information

B. All Interceptor appliances and all Steelhead appliances have been connected and the appliances are transferring

connection information

C. The connection has been established and the Interceptor appliance is transferring its state information

D. The connection has been established and the devices are transferring their state information

Correct Answer: D

QUESTION 5

You are using TCPdumps on the server-side SteelHead to troubleshoot an application connectivity issue.

The following filter is used on the TCPdump:

(host and host ) or (host and host ) or (proto gre

and ((ip[40:4] =

and

ip[44:4] =) or (ip[40:4] = and ip[44:4] =)) or (port 7850)

What part of the filter captures the traffic which the Interceptor has applied NAT to?

A. (ip[40:4] = and ip[44:4] =)
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B. (host and host )
C. (proto gre and ((ip[40:4] = and ip[44:4] =)
D. (host and host)

Correct Answer: A
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